DGT TT S1 Electrician N Wireman

Topic:- DGT_TT_April18_I_21

1) A Buchholz relay can be installed on -

P guEId Ra B W RITTA {341 <1 §Fa1 8| [Question ID = 35]

1. Air-cooled transformers / TOR &S E;qu"lﬁ? [Option ID = 138]
2. Welding transformers / afe&TT SRIGTHR [Option ID = 139]

3. Auto-transformers / 3ffel TRIWIHR [Option ID = 137]

4. Oil cooled transformers / &1 dd ZAWBRR [Option ID = 140]

Correct Answer :-
« Oil cooled transformers / 38T Ad TFAWBIR [Option ID = 140]

2) An induction meter can handle current up to -

TS sSRHE Hiex % YRT YT FHAT 8| [Question ID = 38]

1. 100A [Option ID = 152]
2. 10A [Option ID = 149]
3. 20A [Option ID = 150]
4. 60A [Option ID = 151]

Correct Answer :-
» 100A [Option ID = 152]

3) Which one of the following is not the function of pole shoes in a D.C. machine?

7 & @ o1 w1 e SRiY oxite o ya 3= &1 wrd AE 82
[Question ID = 27]

1. To support the field coils / TS Higd BT GHUT HAT [Option ID = 106]

2. To spread out flux for better uniformity / S8R ThUdT & oY Gaiay &1 BaMT [Option ID = 107]

3. To reduce the reluctance of the magnetic path / T&® I TY &I RAdc~ I HH BT [Option ID = 108]
4. To reduce eddy current loss / TSl 4RI REAIE] DI HH HAT [Option ID = 105]

Correct Answer :-
« To reduce eddy current loss / TSI YRT THH &I HH HRAT [Option ID = 105]

4) Permanent magnets are normally made of -

I A 9H= = ¥ % 91 €14 €| [Question ID = 12]

1. Alnico alloys / Teiieb! fgf &7 [Option ID = 45]
2. Cast iron / &@dl @IgT [Option ID = 47]

3. Wrought iron / &=l &gl [Option ID = 48]

4. Aluminium / TegTH [Option ID = 46]

Correct Answer :-



+ Alnico alloys / Teteb! flif e1q [Option ID = 45]

5) PVC stands for -

Yidiet %1 7a@q 8- [Question ID = 6]

1. Positive voltage conductor / YHRIHD dlecsl hedex [Option ID = 24]
2. Pressed and varnished cloth / G&Td 1T 3R arfiar fpu U HUS [Option ID = 23]
3. Polyvinyl chloride / GIelifdTSd d@RTSS [Option ID = 21]

4. Post varnish conductor / TRe a1 8aeR [Option ID = 22]

Correct Answer :-

« Polyvinyl chloride / TicifdATSd FIRTES [Option ID = 21]

6) The output of an OR gate is LOW when

T® OR T T 3AT3TYe LOW BT § oId | [Question ID = 50]

1. All inputs are HIGH / quft g14Yc HIGH %‘ [Option ID = 200]
2. All inputs are LOW / Tt g19c LOW %‘ [Option ID = 197]

3. Any input is HIGH / @18 *t 399e HIGH § [Option ID = 199]
4, Any input is LOW / &g Ht 399 LOW & [Option ID = 198]

Correct Answer :-
« Al inputs are LOW / §+f $79¢ LOW g [Option ID = 197]

7) Luminous efficiency of a fluorescent tube is:-

TP WIRIAE SJd Bt THHSR G&fdT 8:- [Question ID = 43]

1. 5- 10 lumens / watt / 5 -10 ?qﬁ:r/a"rd [Option ID = 169]

2. 30 - 40 lumens / watt / 30 -40 WA / G [Option ID = 171]
3. 15-20 lumens / watt / 15 -20 &8 / dTc [Option ID = 170]
4. 60 - 65 lumens / watt. / 60 -65 & / dTC [Option ID = 172]

Correct Answer :-
e 60 - 65 lumens / watt. / 60 -65 ?{ﬁ? / dIc [Option ID = 172]

8) A cable carrying alternating current has -

AT YRT A areft U Fad § €T 8- [Question ID = 7]

1. Hysteresis, leakage and copper losses only / %ad fgeeRfi, e ¢k afd &1 &AM [Option ID = 27]
2. Hysteresis, leakage, copper and friction losses / RR i, frama, dfe 3R T &M [Option ID = 28]
3. Hysteresis losses only / %dd fgXe R &AM [Option ID = 25]

4. Hysteresis and leakage losses only / drad fRee R 3R @ JHwT [Option ID = 26]

Correct Answer :-

« Hysteresis and leakage losses only / %ad fRee R 3R R4 JHAM [Option ID = 26]

9) Power factor of the system is kept high -

freeq & urer rae? P I T@T W4T @ - [Question ID = 31]

1. Due to all above reasons / T+ IWRIad HRUN & HRUT [Option ID = 124]
2. To maximise the utilization of the capacities of generators, lines and transformers / SReR, @S 3R TRABTHR P & B
JUANT B HfYHTH B & o4 [Option ID = 122]



3. To reduce voltage regulation of the line / TTZ & dlee o IR Bl HH H o [o¢ [Option ID = 123]
4. To reduce line losses / TTgH IHUMI ! &Y HRAT [Option ID = 121]

Correct Answer :-
« Due to all above reasons / T+ IURTad HRUN & HRUT [Option ID = 124]

10) Power factor of the following circuit will be unity -

fFafafaa affe &1 urar Baew gfdl R - [Question ID = 29]

1. 4) Both (1) & (2) / @M 1 3R 2 [Option ID = 116]
2. 2) Capacitance / HORFEY [Option ID = 114]

3. 3) Resistance / UfaRIY [Option ID = 115]

4. 1) Inductance / $8&< = [Option ID = 113]

Correct Answer :-
« 3) Resistance / UfcRIY [Option ID = 115]

11) Power factor of electric bulb is-

fagad 9 &7 TR Haex 8- [Question ID = 30]

1. Leading / <& [Option ID = 119]
2. Zero / X[ [Option ID = 117]

3. Unity / TehdT [Option ID = 118]

4. Lagging / AfTIT [Option ID = 120]

Correct Answer :-
¢ Unity / TohdT [Option ID = 118]

12) The surge resistance of cable is -

Fad BT Ieil UfaR1Y 8 - [Question ID = 5]

1. 20 Ohms / 20 3{IgH [Option ID = 18]
2. 100 Ohms / 100 3{igH [Option ID = 20]
3. 50 Ohms / 50 371gH [Option ID = 19]
4.5 0hms / 5 3IgH [Option ID = 17]

Correct Answer :-
« 50 Ohms / 50 3{igH [Option ID = 19]

13) In a transformer the tappings are generally provided on -
TErR § R o IR W W Y™ &1 9Tt €]
[Question ID = 33]

1. Primary side / WT4fHe WSS [Option ID = 129]
2. Secondary side / fgdia ags [Option ID = 130]
3. High voltage side / 3= dlecs AI8S [Option ID = 132]
4. Low voltage side / % dleel W8S [Option ID = 131]

Correct Answer :-
« Low voltage side / ¥ dlees 188 [Option ID = 131]



14) Buses, trains, trolleys, hoists, cranes require high starting torque and therefore make use of-

91, 3, giferal, Ita®!, sl @) 3= Tfa aTelt e P AMaRADHAT I g SR SARMT T SUART HXa B

[Question ID = 28]

1. induction motor / $8a-H HIex [Option ID = 111]

2. All of these / g4t fd&ed [Option ID = 112]

3. D.C. series motor / ST 407t AeX [Option ID = 109]
4. D.C. shunt motor / 31 ¥fe HIex [Option ID = 110]

Correct Answer :-
« D.C. series motor / ST Ui Hiex [Option ID = 109]

15) The material for commutator brushes is generally -

IR F9 F e IRl 3 R W T @ - [Question ID = 23]

1. Mica / 3Y® [Option ID = 89]

2. Carbon / ®T& [Option ID = 92]

3. Copper / i€ [Option ID = 90]

4, Cast iron / G&di dgl [Option ID = 91]

Correct Answer :-
« Carbon / ®T& [Option ID = 92]

16) is best suited to extinguishing oil or flammable liquid fire.

A9 I1 STRIE R 3T g3 & T e Iugad BT 81 [Question ID = 3]

1. Dry chemical / ™1 XY™ [Option ID = 12]

2. Foam / B [Option ID = 11]

3. Vaporizing liquid / AR RA [Option ID = 10]
4. Soda acid / TST 37 [Option ID = 9]

Correct Answer :-
« Foam / ¥ [Option ID = 11]

17) Under the influence of fluorescent lamps sometimes the wheels of rotating machinery appear to be
stationary. This is due to the:-

FIRRIC AU & gUTT & dgd Hit-wft gl axi=d & ufd R s 34 71 591 &R 9g 8:-
[Question ID = 42]

1. Stroboscopic effect / E‘W YYTd [Option ID = 167]
2. Fluctuations / 3dR-dgld [Option ID = 165]

3. Low power factor. / %H ifad dR [Option ID = 168]

4. Luminescence effect / gﬁﬁﬁ@?mﬂa [Option ID = 166]

Correct Answer :-
« Stroboscopic effect / FIaRBIUDH THIG [Option ID = 167]

18) Instrument transformers are -

43 CRIBTHR § - [Question ID = 40]
1. 3) Both (1) & (2) / GHI 1 3R 2 [Option ID = 159]



2. 4) Power transformers / iR Qﬂﬂﬁﬁ? [Option ID = 160]
3. 2) Current transformers / YRT Ejﬂth"l'ﬁf? [Option ID = 158]
4. 1) Potential transformers / fava Ejﬂth"l'ﬁf? [Option ID = 157]

Correct Answer :-
« 3) Both (1) & (2) / G 1 3R 2 [Option ID = 159]

19) The commutator segments are connected to the armature conductors by means of -

PR GS B F AT q ITHR Heae’ | SIS &1d & [Question ID = 21]

1. Brazing / SIfSiTT [Option ID = 84]

2. Resistance wires / UfcRIY dR [Option ID = 82]
3. Insulation pads / $A=H S [Option ID = 83]
4. Copper lugs / PR a9 [Option ID = 81]

Correct Answer :-
« Copper lugs / HIIR T [Option ID = 81]

20) In a loss-free R-L-C circuit the transient current is -

TP JHIH-IRd IR-Ta-A Fidhe # giforg= 4T ? - [Question ID = 19]

1. Non-oscillating / R e [Option ID = 76]
2. Sinusoidal / RF¥GSd [Option ID = 75]
3. Square wave / THaR 44 [Option ID = 74]
4. Oscillating / G [Option ID = 73]

Correct Answer :-

+ Sinusoidal / RFEIGEd [Option ID = 75]

21) If a live wire comes in contact with metal casing, excess current moves to -

Ife TP A15d R YT HRAT & A4 Jud A 3A1aT 8, 9@ Srcaftres Uy P 3R ga Ha1 |
[Question ID = 16]

1. Earth / 31 [Option ID = 61]

2. Transformer / SRWGIHR [Option ID = 63]
3. Power house / UiaR 839 [Option ID = 62]
4. Dynamos / S G| [Option ID = 64]

Correct Answer :-
« Earth / 314 [Option ID = 61]

22) Silicon steel is used in electrical machines because it has -

RiftreTa W ®1 ST safecea wi-T § far sirar & F91% 98 819 & - [Question ID = 17]

1. Low coercivity / f4% ®1afffadt [Option ID = 65]
2. Low retentivity / g Reafefad [Option ID = 66]
3. High coercivity / 3= Frafifad [Option ID = 68]
4. Low hysteresis loss /| ®H %@ﬁ?ﬂﬁ D[ Jh I [Option ID = 67]

Correct Answer :-
+ Low hysteresis loss / &H fgXe R &1 JHU [Option ID = 67]



23) What least number must be added to 1056, so that the sum is completely divisible by 23 ?

FIT YAGH =T 1056 T SST ST I3, ATfp a1 23 | Yofa: fqUrsa g1 ¥FH? [Question ID = 49]

1. 2 [Option ID = 193]
2. 18 [Option ID = 195]
3. 3 [Option ID = 194]
4. 4 [Option ID = 196]

Correct Answer :-
e 2 [Option ID = 193]

24) The use of instruments is merely confined within laboratories as standardizing instruments.

IUSVN BT IUUNT Fad AFSIHRV T & U H YARmersii & iavfd HifAd 81 [Question ID = 41]

1. Indicating / $F&®fET [Option ID = 162]
2. Absolute / URH [Option ID = 161]

3. Recording / RIS [Option ID = 163]
4. Integrating / $f¢AfET [Option ID = 164]

Correct Answer :-
* Absolute / URH [Option ID = 161]

25) In any A.C. circuit always -

foradt oft .3l ufvuy & gA=M - [Question ID = 20]

1. Reactive power is more than apparent power / fafsramefier wife T i & 3ifiies 8 [Option ID = 78]
2. Reactive power is more than actual power / Ufafsareiia wifed arafae wfdd F 3ifde & [Option ID = 80]
3. Actual power is more than reactive power / IR e Ufafsrarsiia 2fad & 3ifiies § [Option ID = 79]

4. Apparent power is more than actual power / TiR= Qifdd aRadfae wfad I 34fde § [Option ID = 77]

Correct Answer :-

« Apparent power is more than actual power / ToR= ifed aafas Wfdd ¥ 34 8 [Option ID = 77]

26) D.C. generators are connected to the busbars or disconnected from them only under the floating condition -

ERF SRR ) THIRI A SIS WTd & a7 Had T a1 P d8d 3¢ [S&p-a¢ fhU o1d § - [Question ID = 24]

1. To avoid burning of switch contacts / g Juef & S Y 99 fau [Option ID = 95]

2. To avoid mechanical jerk to the shaft / RMMU¥ CARIIEED W Y g & ﬁ“lﬁ [Option ID = 94]

3. To avoid sudden loading of the primemover / TIZHHAIGR ®1 TS QTS ¥ §9- & ¥ [Option ID = 93]
4. All of these / I fdsed [Option ID = 96]

Correct Answer :-
« All of these / gt fd& e [Option ID = 96]

27) If one input of Ex-Or gate is 1 then it will acts as -

gfe Ex-Or € HT TH AYC 1 § ot g8 BT B - [Question ID = 48]

1. Or gate / Or fir [Option ID = 191]

2. Buffer / ¥R [Option ID = 190]

3. AND gate / AND 7€ [Option ID = 192]
4. Not gate / Not e [Option ID = 189]



Correct Answer :-
« Not gate / Not 7@ [Option ID = 189]

28) The unit of electrical conductivity is -

fagaa ara®ar ¥ 3H1S 8 - [Question ID = 8]

1. Ohm / metre / 3fi@ / HIex [Option ID = 31]
2. 0hm / sq. M. / 3t / if #ft. [Option ID = 32]
3. Mho / metre / Hg&! / Hiex [Option ID = 29]

4. Mho / sq. M / \ig / @i =Y. [Option ID = 30]

Correct Answer :-
« Mho / metre / {gl / Hiex [Option ID = 29]

29) What is the maximum load that can be connected in a circuit connecting only lighting points?

HYFAT UR HT I R Haa ye fagai 31 siis arelt te uRuy & ST &I AFdT 82 [Question ID = 13]

1. 800 watts / 800 dIc [Option ID = 51]
2. 750 watts / 750 dIc [Option ID = 52]
3. 700 watts / 700 d1c [Option ID = 50]
4. 500 watts / 500 dTc [Option ID = 49]

Correct Answer :-
« 800 watts / 800 dTc [Option ID = 51]

30) For what voltage levels are the screwed conduit circuits used?

fra dieew & e ©ps wegge uRuy Iuah & wd 82 [Question ID = 14]

1. None of these / 378 @ I 4t FaT [Option ID = 56]

2. For voltages above 600 V / 600 dice & TR dleesl & fad [Option ID = 55]

3. For voltages between 250 V — 600 V / 250 dice - 600 diee & &g dleedl & ¢ [Option ID = 54]
4. Less than 250 V / 250 dice ¥ &Y [Option ID = 53]

Correct Answer :-
« For voltages between 250 V — 600 V / 250 dlee - 600 dlec & §Id dlees o [old [Option ID = 54]

31) Earth wire is connected to the -

3 IR B J SiTST W17 81 [Question ID = 15]

1. Transformer / SRIHIAR [Option ID = 60]
2. Ground / ?-ﬂf[ [Option ID = 57]

3. Power house / UlaR 8139 [Option ID = 59]
4. Appliance / 3UhRTT [Option ID = 58]

Correct Answer :-
« Ground / Y& [Option ID = 57]

32) Radix of binary number system is ?

T =T yoITet &1 YT 2| [Question ID = 51]
1. 4) Both (1) & (2) / @M 1 3R 2 [Option ID = 204]



2. 1) 0 [Option ID = 201]
3. 2) 1 [Option ID = 202]
4. 3) 2 [Option ID = 203]

Correct Answer :-
e 3) 2 [Option ID = 203]

33) The function of conservator in a transformer is-

TS BT # W& & B 8- [Question ID = 34]
1. To project against'internal fault / AR QY & RITH TRASHT & forg [Option ID = 133]

2. To take care of the expansion and contraction of transformer oil due to variation of temperature of surroundings / IRI 3R
& AU B 9EAd & HRU SHTHR dd & IR 3R e &1 &1 [T [Option ID = 136]

3. To cool the transformer oil / TRIHIHR &Y ST HAT [Option ID = 135]

4. To reduce copper as well as core losses / did & HIY-TTY HR JHAMI DI HH HH o AT [Option ID = 134]

Correct Answer :-
« To take care of the expansion and contraction of transformer oil due to variation of temperature of surroundings / IRI

3R & qUHH H IEAd &b HRU TABGER 9d & fIR 3R e BT & I/ [Option ID = 136]

34) A D.C. series motor is that which -

T. 313 F Hier 98 g1 @ S - [Question ID = 26]

1. Has a poor torque / Tdh WRId A5 3 [Option ID = 102]

2. Has its field winding consisting of thick wire and less turns / e IR 3R HH Iﬁ@f qIet ISP &F AISFST il ? [Option ID =
101]

3. Has almost constant speed / T+ f&R 71fd ® [Option ID = 104]

4. Can be started easily without load / @€ & fa-T 3T ¥ YR= fasaT ST Tawar € [Option ID = 103]

Correct Answer :-

» Has its field winding consisting of thick wire and less turns / e dR 3R &H nﬁ@‘r qTel S &F AEfST Bidl % [Option ID
= 101]

35) In soldering the melting point of filler metal is -

s H1 H WG B UTg BT TAHIP gial 8- [Question ID = 9]

1. Below 420°C / 420°C ¥ =9 [Option ID = 33]
2. Above 420°C / 420°C & SHUR [Option ID = 34]
3. Below 520°C / 520°C & e [Option ID = 35]
4. Above 520°C / 520°C & SR [Option ID = 36]

Correct Answer :-
« Above 420°C / 420°C F IR [Option ID = 34]

36) Which gas is sometimes used in filament lamps?

e 9 &1 IuahT Ft-waft fhame du A far SImar 82 [Question ID = 45]
1. Nitrogen / 1 Eéj S [Option ID = 179]

2. Carbon dioxide. / FTe SRIATEIES [Option ID = 180]

3. Argon / 3t [Option ID = 177]
4. Krypton / fg= [Option ID = 178]

Correct Answer :-



« Argon / 39 [Option ID = 177]

37) Which photometer depends for its operation on Inverse Square Law ?

P A WieHier s WrR Faw W 3= wared & g fAafR #5741 82 [Question ID = 44]

1. Guilds Flicker Photometer / ficgd firdR WicHTex [Option ID = 173]

2. Trotter Illumination Photometer / iR UGl WhiciHiex [Option ID = 176]
3. Lummer Brodhum Photometer / ®JFR SITSTH WICIcH [Option ID = 174]
4. Macbeth llluminometer / AHaY MR [Option ID = 175]

Correct Answer :-
* Macbeth llluminometer / AHaY sﬁjlﬁ:ilri X [Option ID = 175]

38) An UJT exhibits negative resistance region:

TS oIl THRIAS UlaRIY & iaT 3:- [Question ID = 47]

1. 4) Both (1) & (3) / @M 1 3R 3 [Option ID = 188]

2. 3) After the valley point / 9@ %EQ’ & ¢ [Option ID = 187]

3. 1) Before the break point / % WIsc & Ad [Option ID = 185]

4. 2) Between peak and valley point / i 3R It ﬁlﬂq’ & & [Option ID = 186]

Correct Answer :-
« 2) Between peak and valley point / 2 3R 3eft faw & = [Option ID = 186]

39) The power transformer is a constant -

faorelt girwTHR T fRR ? - [Question ID = 32]

1. Power device / OIaR f&a18d [Option ID = 127]

2. Current device / YRT f&argg [Option ID = 126]

3. Voltage device / dices f$argd [Option ID = 125]

4. Main flux device / BT Tl fearzg [Option ID = 128]

Correct Answer :-
» Main flux device / T3 i %HEH [Option ID = 128]

40) Differentially compound D.C. motors can find applications requiring -

STT- 3TN HUTSUS ST Wi Tavasd SIUANT &1 U7 IPd @ - [Question ID = 25]

1. Low starting torque / f% IféT efds [Option ID = 98]

2. Frequent on-off cycles /| IRWR 3Hi-31% aH [Option ID = 100]
3. Variable speed / R TIfd [Option ID = 99]

4. High starting torque / 3= IfT €lds [Option ID = 97]

Correct Answer :-
« Low starting torque / & IféT i [Option ID = 98]

41) The operating voltage of a meggar is about -

T AR BT HTRTET deesl TIHT ST 8- [Question ID = 39]

1. 40V [Option ID = 155]
2. 100V [Option ID = 156]
3. 6V [Option ID = 153]



4. 12V [Option ID = 154]

Correct Answer :-
« 100V [Option ID = 156]

42) If electrical wires and appliances are overheated due to high electric current they can cause -

afe farerell & ar¥ 3R SUHOl I= fagad YRT & HRUN 3 T g1 &iTaT @ o) 3 9P HRUI a4 THa § - [Question ID
= 2]

1. 2) Burns / T [Option ID = 6]

2. 4) Freezing / STHAT [Option ID = 8]

3. 3) Both (1) & (2) / I 1 3fR 2 [Option ID = 7]
4. 1) Fires / 3T [Option ID = 5]

Correct Answer :-
« 3)Both (1) & (2) / GHI 1 3R 2 [Option ID = 7]

43) Batteries are charged by -

defva w5t 9T foraT SITaT 8| [Question ID = 11]

1. Rectifiers / YfGewTa™f [Option ID = 41]

2. Motor generator sets / e SRR ¥e [Option ID = 43]

3. Engine generator sets / $9 SFRER T [Option ID = 42]

4. Any one of the above methods / SRIFd Rp! # F B TH [Option ID = 44]

Correct Answer :-
« Any one of the above methods / STRIad A&l H T His T [Option ID = 44]

44) The following class of fire occur in electrical equipment -

frereht & IuPpwur § M1 FY A 4o @t @ - [Question ID = 4]

1. Class-A fires / ?:ITf-Q 3{[T [Option ID = 13]
2. Class-C fires / if-ft 3mT [Option ID = 15]
3. Class-B fires / @¥i-alf 31T [Option ID = 14]
4. All of these / T4t fd®ed [Option ID = 16]

Correct Answer :-
« Class-C fires / a¥1-} 3R [Option ID = 15]

45) Capacitive reactance is more when -

Fufyfea Ruady aifire g1 @ 919 - [Question ID = 18]

1. Capacitance is less and frequency of supply is more / HURICT HH § 3R 3MYfd &1 3MgRy 34fAF g [Option ID = 70]

2. Capacitance is less and frequency of supply is less / ORI &1 § 3R 3AMYff Pt 3T HH § [Option ID = 69]

3. Capacitance is more and frequency of supply is more / FORICT 31f% § 3R 3MYff ®1 Mgy 34fF & [Option ID = 72]
4. Capacitance is more and frequency of supply is less / HURC=T 31f¥% § 3R 3mgfd F1 3mafy &H g [Option ID = 71]

Correct Answer :-

« Capacitance is less and frequency of supply is less / FURIET HH § 3R MY B 3MRI HH g [Option ID = 69]

46) The specific gravity of electrolyte is measured by -



gdaagIarge & ARy Toa &1 ¥ 91T STT 8| [Question ID = 10]

1. A mechanical gauge / U BIECIS] [Option ID = 38]
2. Manometer / AR [Option ID = 37]

3. Hydrometer / § églﬁ X [Option ID = 39]
4. Psychrometer / 9 ZPHIHICT [Option ID = 40]

Correct Answer :-

+ Hydrometer / 6I3$|ﬁ cX [Option ID = 39]

47) A zero watt lamp consumes:-

TS Y 1€ AW T $RdT 8:- [Question ID = 46]

1. About 15 to 20 W power / 15 ¥ 20 dT¢ Rifdd ¥ SHUR [Option ID = 183]
2. No power / Eﬁ'sc RIESEE] [Option ID = 181]

3. About 5 to 7 W power / @THIT 5 ¥ 7 dT¢ Wfad ¥ 3R [Option ID = 182]
4. About 25 to 30 W power. / 25 ¥ 30 dI¢ Rfad ¥ 3R [Option ID = 184]

Correct Answer :-
« About 5to 7 W power / @THIT 5 ¥ 7 dT¢ fad ¥ HW [Option ID = 182]

48) While applying Fleming's right-hand rule to And the direction of induced e.m.f., the thumb points towards -

R & qifgit-g1y & Fam &) arg Fd Jug e STHew @1 fiwm, S #t wrge a=ifar @ - [Question ID = 22]

1. Direction of motion of conductor, if forefinger points along the lines of flux / Hedex ®t Tfd D1 fe=, afe weid ! Al &
T oIt @ISe [Option ID = 88]

2. Direction of motion of the conductor if forefinger points in the direction of generated e.m.f. / SR o1 7 &1 FAdwE afe
IF suqEH @ =M H dsi-t @ige gl [Option ID = 87]

3. Direction of flux / T/ &1 T [Option ID = 86]

4. Direction of induced e.m.f. / 9Rd 'stQTerCE 31 fa=m [Option ID = 85]

Correct Answer :-

« Direction of motion of conductor, if forefinger points along the lines of flux / Feaex &1 TIid &1 f=m, Tfe wiaq S AgAl
& 1Y doi-t @rse [Option ID = 88]

49) The full-load copper loss of a transformer is 1600 W. At half-load, the copper loss will be-

TABTHRY &1 YUl YR did 319 1600 S 81 MY-UR R, did g gI- [Question ID = 36]

1. 400 W [Option ID = 144]
2. 6400 W [Option ID = 141]
3. 1600 W [Option ID = 142]
4. 800 W [Option ID = 143]

Correct Answer :-
* 400 W [Option ID = 144]

50) A moving-coil permanent-magnet instrument can be used as by using a low resistance shunt.

TP YfAT-1ad RITA-99% 37 $T IUANT TP HH UfeRIY e & ey ¥ wq # frar 51 &d1 81 [Question ID
= 37]

1. Voltmeter / dieeHIex [Option ID = 146]
2. Ballistic galvanometer / Sfeifee Tied=iHieR [Option ID = 148]
3. Flux-meter / e Hiex [Option ID = 147]



4. Ammeter / 3THIC [Option ID = 145]

Correct Answer :-
« Ammeter / 3{THIEX [Option ID = 145]



